EXHIBIT F

I, Allen Felahy, declare as follows:

- 1. I am a member and Managing Partner of the firm of Felahy Law Group, APC ("Felahy Law Group"). I am submitting this supplemental declaration in support of my firm's application for an award of attorneys' fees and expenses in connection with services rendered in the above-entitled action, pursuant to the Court's order of <u>August 10, 2012</u>.
- 2. The firm is counsel of record for plaintiff <u>Jethro Magat</u>. Our firm was not appointed lead counsel in this consolidated MDL. I have not ever been paid or reimbursed any fees or expenses in this case as of the filing of this document.
- 3. Since its inception in 1998, Felahy Law Group (formerly Felahy and Associates) has aggressively litigated more than 1,000 cases in Southern California, and its employment and business litigation attorneys pride themselves in standing at the top of their profession in terms of skills, integrity, and rate of success, with an average trial/arbitration award in excess of \$250,000. The identification and background of my firm and its partners is as follows:
 - a. I am the founding partner of Felahy Law Group and I am admitted to practice before all of the Courts of this State. I am highly experienced in civil litigation and class actions practice. I have been practicing law since 1998 and have successfully litigated numerous Federal and State law actions through trial. Indeed, my success as a trial lawyer have been well documented in the Daily Journal, Los Angeles Times, Long Beach Press Telegram, and other regional newspapers; as I have obtained substantial and significant judgments/orders for my clients, several of which have exceeded the million dollar threshold. Many of the aforementioned actions were multiparty or class action wage and hour matters. Due to my expertise, I was invited to be a contributing editor to the (2009-2010) CEB California Wage and Hour Compliance and Litigation Manual. I accepted the invitation and edited a portion of that CEB guide. I have also successfully certified numerous class action cases and have been found by state and federal judges alike to be "qualified, experienced and generally able to conduct the proposed litigation."

b. Oscar Ramirez is a partner of Felahy Law Group who is admitted to practice before all of the Courts of this State. Mr. Ramirez is highly experienced in civil litigation and class actions practice. Mr. Ramirez has been practicing law since 2005 and has successfully litigated numerous Federal and State law actions through trial. Mr. Ramirez is also a certified mediator. He serves as a volunteer mediator for the Los Angeles Superior Court's Alternative Dispute Resolution (ADR) program.

- c. Mr. Joseph T. Sniezek, Esq., who is of counsel for Felahy Law Group, has 13 years of experience as an employment law attorney and has a proven track record of success in complex multi-party employment law matters. Mr. Sniezek is admitted to practice before all of the Courts of this State.
- d. Mr. Boris Sorsher, has five years of litigation experience and has recently been promoted to a junior partner. Mr. Sorsher has successfully litigated Federal and State law actions through trial. Mr. Sorsher is admitted to practice before all of the Courts of this State.
- 4. The following information regarding the firm's time and expenses is taken from time and expense printouts prepared and maintained by my firm in the ordinary course of business. I am the attorney who oversaw and/or conducted the day-to-day activities in the litigation and who reviewed these printouts (and backup documentation where necessary or appropriate). The purpose of these reviews was to confirm both the accuracy of the entries on the printouts as well as the necessity for and reasonableness of the time and expenses committed to the litigation. As a result of these reviews, reductions were made to both time and expenses either in the exercise of billing judgment or to conform to the firm's guidelines and policies regarding certain expenses such as charges for hotels, meals, and transportation. As a result of these reviews and adjustments, I believe that the time reflected in the firm's lodestar calculation and the expenses for which payment is sought are reasonable in amount and were necessary for the effective and efficient prosecution and resolution of the litigation.

5. The total number of hours spent on this litigation by my firm is 68. The total lodestar amount for attorney/paraprofessional time based on the firm's current rates is \$29,440.00. The hourly rates shown below are the usual and customary rates charged for each individual. A breakdown of the lodestar is as follows:

NAME		HOURS	RATE	LODESTAR
Allen B. Felahy	(P)	35.80	495	\$17,721.00
Oscar Ramirez	(P)	22.20	395.00	\$8,769.00
Boris Sorsher	(A)	10.00	295.00	\$2,950.00
TOTAL				\$29,440.00

- (P) Partner
- (A) Associate
- 6. In light of the Court's September 13, 2012, order I have attached hereto a true and correct itemized bill for all services provided by my firm in this case. Pursuant to the Court's order this billing statement identifies both what services were performed and when those services were provided. A true and correct copy of the billing statement is attached hereto as Exhibit 1.
- 7. As the Court will note, the attached billing statement demonstrates that a majority of the fees and costs incurred were incurred after the appointment of lead counsel. These fees were incurred because my firm and I were heavily involved in the litigation even after the appointment of lead counsel. Indeed, both Mr. Ramirez and I consulted heavily with patent/intellectual property experts in advance of the mediation which was held in San Francisco. Furthermore, both Mr. Ramirez and I traveled from Los Angeles to San Francisco to personally attend the mediation of this matter in June of 2011. Accordingly, all fees incurred by my firm were necessary and justified.

8. My firm seeks an award of \$2,257.25 in expenses which were reasonably and necessarily committed to the prosecution of the litigation. They are broken down as follows:

EXPENSES

From Inception to May 21, 2012

EXPENSE CATEGORY	TOTAL
Out-of-Town Transportation and Travel Related Expenses	\$1,750.00
Photocopies (in-house: 629 copies @ \$0.25 per page)	\$157.25
Postage & Delivery	\$141.80
Filing, Witness & Other Fees	\$350.00
TOTAL	\$2,257.25

- 9. The following is additional information regarding certain expenses:
 - (a) Out-of-town Transportation and Travel Related Expenses: \$1,750.

NAME	DATE	DESTINATION	PURPOSE
Allen Felahy	6/23/11	San Francisco, CA	To Attend Mediation
Oscar Ramirez	6/23/11	San Francisco, CA	To Attend Mediation

(b) Filing, Witness and Other Fees: \$350.00

DATE	VENDOR
6/29/2010	US District Court (complaint filing fee)
	Amount: \$350

10. The expenses pertaining to this case are reflected in the books and records of this firm. These books and records are prepared from expense vouchers, check records and other documents and are an accurate record of the expenses. In addition, all of the aforementioned costs are included in the billing statement, a true and correct copy of which is attached hereto as Exhibit 1.

1	11. I submit that the time and expense submission included in this Declaration were
2	incurred in this litigation. I request that the Court award my firm \$29,440.00 in attorneys' fees
3	and \$2,257.25 in expenses reimbursement, for a total of \$31,697.25.
4	
5	I declare under penalty of perjury under the laws of the United States of America and the
6	State of California that the foregoing is true and correct. Executed this 19th day of September,
7	2012, at Long Beach, CA.
8	
9	
10	ALLEN FELAHY, Declarant
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	

Case5:10-md-02188-RMW Document81-6 Filed09/24/12 Page7 of 12

28

EXHIBIT 1

4000 Cover Street Suite 100 Long Beach, CA 90808 Tel. (562) 499-2121

S	T		T	F	M	E	N	
	18	<i>B</i>	. 13	Barrer .	8 9 1	Barrers	₩ W	8

DATE

4/27/2012

TO:		

Jethro Magat

\$31,697.25

DATE **TRANSACTION** QTY **RATE AMOUNT BALANCE** 06/20/2011 ABF MEETING WITH CLIENT RE CASE 495.00 495.00 495.00 **FACTS** 06/20/2011 ABF PREPARED MEMO RE: MEETING W/ 0.5 495.00 247.50 742.50 CLIENT AND FACTS FOR FEDERAL COMPLAINT 06/21/2011 ABF REVIEWED FIRST AMENDED CLASS 2.5 495.00 1,237.50 1,980.00 COMPLAINT FILED IN NORTHERN DISTRICT OF CA AND OTHER FEDERAL **ACTIONS** 06/21/2011 OR RESEARCH FOR FEDERAL COMPLAINT 2.5 395.00 987.50 2,967.50 AND CAUSES OF ACTION 06/21/2011 BSS RESEARCH CASE FACTS AND 1.5 295.00 442.50 3,410.00 PREPARED MEMO FOR FEDERAL COMPLAINT 06/21/2011 OR PREPARED MEMO RE: CAUSES OF 1.5 395.00 592.50 4,002.50 ACTION FOR FEDERAL COMPLAINT 06/22/2011 BSS DRAFTED FEDERAL COMPLAINT 4.5 295.00 1,327.50 5,330.00 06/22/2011 BSS DRAFTED SUMMONS AND CIVIL 0.5 295.00 147.50 5,477.50 CASE COVER SHEET 06/22/2011 BSS DRAFTED NOTICE OF INTERESTED 0.5 295.00 147.50 5,625.00 **PARTIES** 06/22/2011 ABF REVIEWED AWARDED US PATENT 4.5 495.00 2,227.50 7,852.50 7,966,578 RE APPLE iPHONE ON 06.21.11

AMOUNT DUE

4000 Cover Street Suite 100 Long Beach, CA 90808 Tel. (562) 499-2121

S	T	Δ		F	M		M	
اللسيط	E	W	18	8	18 AM 18	8	B 183	ia.

DATE

4/27/2012

Jethro Magat

\$31,697.25

QTY DATE **TRANSACTION** RATE **AMOUNT BALANCE** ABF CONFERENCE W/ PATENT EXPERT 2.5 495.00 06/22/2011 1,237.50 9,090.00 RE: NEWLY AWARDED APPLE IPHONE PATENT AND IMPACT ON CLASS CLAIMS 06/22/2011 ABF REVIEWED PRESS RELEASES RE: 0.5 495.00 247.50 9,337.50 AWARDED US PATENT 7,966,578 RE APPLE iPHONE ON 06.21.11 06/22/2011 ABF REVIEWED, REVISED AND EDITED 3.5 495.00 1,732.50 11,070.00 FEDERAL COMPLAINT 06/23/2011 ABF CONFERENCE RE: ALLEGATIONS IN 1.5 495.00 742.50 11,812.50 COMPLAINT AND RESEARCH RE APPLE'S RESPONSE TO CONSUMER CONCERNS 06/23/2011 BSS RESEARCH CONNECTIVITY PROBLEM 1.5 295.00 442.50 12,255.00 AND APPLE'S RESPONSE/PROPOSED **SOLUTIONS** 06/23/2011 ABF CONFERENCE RE: PROPOSED 0.5 495.00 247.50 12,502.50 DISCOVERY 06/23/2011 ABF TRAVEL TO/FROM SAN FRANCISCO 10 495.00 4,950.00 17,452.50 AND ATTEND MEDIATION 06/23/2011 OR TRAVEL TO/FROM SAN FRANCISCO 10 395.00 3,950.00 21,402.50 AND ATTEND MEDIATION BSS RESEARCH RE: EFFECT OF 1.5 295.00 06/23/2011 442.50 21,845.00 SETTLEMENT OF FEDERAL CASES ON STATE CASES 06/23/2011 ABF PREPARED MEMO RE: MEDIATION 2.5 495.00 1,237.50 23,082.50

4000 Cover Street Suite 100 Long Beach, CA 90808 Tel. (562) 499-2121

9	Δ	T	M	E	M	T
J	M		IV		IW	

DATE

4/27/2012

TO:

Jethro Magat

AMOUNT DUE

\$31,697.25

DATE	TRANSACTION	QTY	RATE	AMOUNT	BALANCE
06/23/2011	TRAVEL & MISCELLANEOUS CHARGES FOR MEDIATION IN SAN FRANCISCO	1	1,750.00	1,750.00	24,832.50
06/23/2011	FILING FEE PAYABLE TO COURT RE: FEDERAL COMPLAINT	1	350.00	350.00	25,182.50
06/24/2011	OR RESEARCH RE ADDITIONAL CLASS ACTIONS FILED IN FEDERAL COURT	2.5	395.00	987.50	26,170.00
06/28/2011	ABF REVIEWED NOTICE OF ASSIGNMENT OF JUDGE	0.2	495.00	99.00	26,269.00
07/07/2011	OR REVIEWED NOTICE OF FILING TAG-ALONG ACTION	0.5	395.00	197.50	26,466.50
07/07/2011	OR REVIEWED E-MAIL FROM OC RE: NOTICE OF MDL TAG-ALONG FILING	0.2	395.00	79.00	26,545.50
07/11/2011	OR REVIEWED COURT DOCUMENTS	0.5	395.00	197.50	26,743.00
07/11/2011	ABF REVIEWED CONDITIONAL TRANSFER ORDER	0.2	495.00	99.00	26,842.00
07/14/2011	OR REVIEWED CORRESPONDENCE RE: COMPUTER FORENSIC AND ELECTRONIC DISCOVERY SERVICES FOR APPLE CASE	0.5	395.00	197.50	27,039.50
08/09/2011	OR REVIEWED RECEIPT OF CASE BY OTHER DISTRICT	0.5	395.00	197.50	27,237.00
08/09/2011	ABF REVIEWED NOTICE OF ELECTRONIC CASE TRANSFER	0.3	495.00	148.50	27,385.50
01/31/2012	ABF REVIEWED CONFIDENTIALITY AGREEMENTS	0.3	495.00	148.50	27,534.00

AMOUNT DUE

4000 Cover Street Suite 100 Long Beach, CA 90808 Tel. (562) 499-2121

2	T	A	T	M		F	A	Negative Spirit	T
السا	8		. 8	 R W	В	<u></u>	11	Ø	

DATE

4/27/2012

TO:			

Jethro Magat

AMOUNT DUE

\$31,697.25

DATE	TRANSACTION	QTY	RATE	AMOUNT	BALANCE
01/31/2012	ABF REVIEWED TERMS OF SETTLEMENT AGREEMENT AND RELEASE FOR FEDERAL CLASS ACTION CASES; CONFERENCE W/ OR RE TERMS	2.5	495.00	1,237.50	28,771.50
01/31/2012	ABF CORRESPONDENCE-RESPONSE RE: SETTLEMENT	0.5	495.00	247.50	29,019.00
01/31/2012	OR REVIEWED TERMS OF SETTLEMENT AGREEMENT AND RELEASE FOR FEDERAL CLASS ACTION CASES; CONFERNCE W/ ABF RE TERMS	2.5	395.00	987.50	30,006.50
02/01/2012	ABF MEETING WITH CLIENT RE SETTLEMENT	0.5	495.00	247.50	30,254.00
02/01/2012	OR MEETING WITH CLIENT RE SETTLEMENT	0.5	395.00	197.50	30,451.50
02/09/2012	ABF REVIEWED EMAIL FROM N. SARNELLI RE: SETTLEMENT	0.3	495.00	148.50	30,600.00
02/09/2012	ABF T/C TO J. SARNELLI RE: SETTLEMENT	0.5	495.00	247.50	30,847.50
03/30/2012	COPIES/SCANS FROM 062111-033012	629	0.25	157.25	31,004.75
04/04/2012	ABF REVIEWED CORRESPONDENCE RE: SETTLEMENT	0.5	495.00	247.50	31,252.25
04/04/2012	ABF CONFERENCE RE: SETTLEMENT	0.5	495.00	247.50	31,499.75
04/04/2012	OR CONFERENCE RE: SETTLEMENT	0.5	395.00	197.50	31,697.25

AMOUNT DUE